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#include <stdio h>
main()
{int a[3]={5,6,7}, b[4]={7,8,9,10}:
int 1,j;
for(i=0;i<=1;i=i+1)
ali]=a[i]+2;
for(j=1;j<3;j=j+2)
b[j]=b[j]+1;
printf("i=%d \n",i);
printf("j=%d \n",j);
printf("a[1]=%d \n*,a[17);
printf("b[1]=%d \n",b[1]);
printf("b(3 |=%d \n",b(3]); b
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int a[3]={5,6,7}, b[4]={7,8,9,10};

Bif%’ﬁb;
a[3]={1,2,2}, b[4] {3,4,5,6};
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19 ~ G40 4k # F=A'BC+AC+ABCD+ABC » # B A F % B # °
(g i £ @ (Karnaugh map) # F fi/bk#HEes4 (sum-of-products) = i fi #5
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» for (i=n-1;i>=1;i--) {
for (j=0;j<i;j++)
(ifistfj]>list[j+1])
{ interchange list[j] and list[j+1]; - } } }
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A% n=4 B list[0]=20 ~ list{1]=50 - list[2]=58 ~ list|3]=10 8% : b F xR R
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(2).20 50 10 58
(b).20 10 50 58
(c).10 20 50 58
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